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(1) log 10000

(2) log3/10000C
(3) log 10942

(1) B2 10000=10"
ALl 1og10000=4

5
(2) AB 3100000= 16
AfrL log3/10000 :—E;

(3) HE logl@*%=0.9425
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(1) log 23

(2) log 2631188

(3) log 3.1415926

(4) log 200000

R s (EBD EiE [log] g
(1) log23 = 1.361727836= 1.3617
(2) 1092631188 = 6.42015188= 6.4202
(3) 10g3.1415926 = 0.497149865 0.4971
(4) 10g200000 = 5.301029996= 5.3010
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(1) log 2+1log 50

(2) log 35-log 14-+log 40

(1) log 2+ log 50=log 100=2

(2) log 35—-log 14+log 40
35x 40
14
=log 100
=2

=log
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(1) log9

(2) logrl

(3) log;0.04

(1) BB F=9 ALl 10gg9=2
(2) Wk =1 Fld logl=0
3) o.o4=i:_1=(_1j e

100 25 |5

.". logs0.04=l0gs5 >=-2
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(1) Iogzl1 32

1
(2) log, 1672

3) Ioggg

log2®  5log2 _ 5

1) logt32=log_, 2 = = =2

() % % log,. -2log2 2
1 29
2) log,—==1log, 22 =-—
(2) 91603 0% >

_3
3) log, 3| 2i7 - log, 3° =log, 3" = -1

WARE 6 BEATK
(1) FIA#EAZLL log3 FR~ 1003000
(2) © a=log2 - b=log3 - FIFH#EAFEL a> b FR log72

(1) log, 3000= 1293000
0og3
_ log (3% 1000)= log3 logl100 _3+ log 3
log 3 log3 log3

(2) log, 72= log72_ log(Z2x 3 )_3log2+2log3_ &+ P
2 - - - —

log 2 log 2 log 2 a
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(1) log5

(2) logs7

P2 (1) #san |
(5] [log]+ [+]~[2]  [log] - []

& 2.321928095= 2.3219

(2) fZsgan ™

7] [log] - | =] [3] [log] - |

& 1.771243749= 1.7712
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(1) logy243+1ogy81

(2) log:32+109gs16

(1) log243+loge81 (2) log:32+l0gs16
=loge (243x81) =logy2 2°+logs 2*
—logs2 (3°x3") 5,4
— loge3®— 9 2 3
2 23
6
( S5 )

1099243+ 10981

=l0gs23°+2

log, 3+ 2
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(1) logr16xlogs49%logl25

(2) log27xlog5xlog 254

(1) log;16xlogs49x%l0g;125
~ log16x log49% log12! 4log2x 2log 7 3logkt
B log 7x log 25¢ log 8 B log7x 2 log5x 3log 2
~ 4x2x3xlog2x log & log:t
2% 3x log 7% log 5« log 2
=4

(2) log27xlog5xlog 254
~ log27xlog5< log4  3log3xlog5x 2log2
B log 4x log 9 IongEi 2log2x 2log3 3logt
~ 3x2xlog3x log5¢ log?2
~ 2x2x3x log2x log ¥ logt
1

2



